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1.  The teacher completed this chapter.

(1) are (2) s (3) have has
p ] always listen to great speeches carefully so that I implement them in every walk
of my life.
(1) had (2) was (3) am can
3. She [ cannot disturb her now.
@ has been resting (2) had been resting
(3) isresting (4) was resting
4, Radha and Rima business partners.
@ are (2) s (3) was (4) had been

5. My mother the newspaper in the morning.

(1) isreading (2) wasreading reads (4) will be reading
6. The police arrested the thieves.

(1) has have (3) s (4) are
7.  Either of the foot paths __ to Superintendent's house.

(1) lead leads (3) haveled (4) isled
8. Indiais country. Every Indian is icon in helping the poor people.

@ a, an © (2) an,a (3) a,the (4) of, the

9.  If you study history, you

that all stories of success are also stories of great failures.

(1) see (2) think will find (4) know
10. Either Maya or her friend Manju responsible for the picnic plan.

(1) are was (3) is (4) were
11. Inever feel that I am superior anyone.

(1) than @ to (3) for (4) on
12. The synonym of "hard" is

(1) beautiful (2) firm @ soft (4) weak
13. Back in my native place, we good internet.

(1) does not have (2) was not have @ did not have

(4) had not have

an appointment with the doctor soon.
@ will make (2) had made (3)

am making

(4) was making

been missing from my room.
(2) have 3) is

15. A pair of socks

@ has

(4) are
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L5

es.
16. People often games for sports and $ orts for gam

istook
e ekl (4) s
(1) mistaken (2) mistaking mistake SRR
17. We two daughters. (4) having

(1)  will have (2) has @ have S
18.  The antonym of "opaque" is ; (4) Broken

(1)  Fragile (2) Partial @ Iransparen
19. Rahul and his friends invited to the party by me. .

: (4) ha

1) s (j ) have been (3) was
20. Thave donea deal of work. s

(1)  big @ great (3) huge (4) enorm

—

Read the passage below and answer the questions (21-25).

Ms. Yanada recalls all too clearly that mid-summer day in 1945 when US warplanes dropped an atom
bomb in Hiroshima. A second atom bomb was dropped by the USA on ﬂ:lE :suuthwestEEI‘Ill City o
Nagasaki three days later, forcing Japan to surrender to the allied forces and bringing the Pacific war g
an end. More than 1,40,000 people were killed instantly after the nuclear blasts and many more died in
the months and years after. Victims continue to die each year from cancer and radiation-linked illnesses

Today Ms. Yanada is part of a group called Japan Confederation of A & H Bomb Sufferers, made up of
survivors like her struggling for a fair deal in life. In Japan, a vast number of people are still lobbying the

government to give them the status they have been denied for so long. Ms. Yanada’s group makes
frequent visits to the offices of the influential members of the district.

21. The US dropped on Hiroshima.
one bomb (2) two bombs (3) three bombs (4) four bombs
22.  Japan Confederation of A & H Bomb Sufferers is made up of the
survivors of the nuclear bomb blast.
(2) dead in the nuclear bomb blast.
(3)  children of the people dead in the nuclear bompb blast.
(4) relatives of the people dead in the nuclear bomb blast.
23, people were killed instantly after the Nuclear bomb bjast B
(1)  Only 1,40,000 @5 More than 1,40,000 ‘
(3) Less than 1,40,000 (4)  None of the above
24.  Japan was forced to surrender after the bc:«;n-{; =5
(1)  first @ second (3)  third @  fourih
r
25. Victims of the atom bomb blast in Japan continge tq die of o o
(1)  Cancer.
(2) Radiation-linked diseases.
(3) B{:‘t.h cancer and radiation linked diseases
Neither cancer nor radiation linked diseageg.
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96. The fraction equivalent to 257 is
257 & 65 HRPSDS D
2 232 257
0 59 @ 0 @ == ay =2
99 9 90 5

——— - =

o7 In the given four digit number 3x57 and in the number formed by writing the digits of the given
number in reverse order, the difference of the place values of x is

2N TPeNDd WosY QSogg 3x57 5%, QYO #Jcmgé% oS AGHd FrodHe Hed) ﬁa&}géﬁfﬁa x

G3008), Eg"&') Dender 2350
(1) 1000 2) 190 @ 90 @) 10

A ——

28. A wire of length 17 meters is cut into two parts. With one part a square and with another part an
equilateral triangle are made. If the area of the square is A Sq. meters and Perimeter is B meters

such that B = 2A, then the ratio of the areas of the square and triangle is
17 b8 D o 2.8 55 Bock ermrente E88omed. 2.8 2otfoes® 580, HBABNE zotfoes”

550G BZHBHND SoSPE FT. SHY gFoge A Sl Sotsth, chepSeds B e, B = 24
e0ond, $eddo, BgHadne JBorge AP

1) 8:9 @ 16+/3:27 () 12:13 @) 16:124/3

9. If LCM and HCF of two numbers x and y are L and H respectively, then
¥ 5558050 1 @F Hopger BuE); &. J°. . 28050 8. . g, e Sedre L oot H e 0e8, B

% ot (2) xy=L+H 3) x+l=y+H (9 *=LH
H y
30, 2(31/%/11+5x315)=
332
(1) 10 @ 15 (3) 20 4) 25

31. The ratios of the ages of two persons before 6 years and after 6 years are 3 : 8 and 7 : 12

respectively. Their present ages respectively are

6 Hodesyore §otsed, 6 HoHesyore &oeges awd SaHanye AYoed 5% 3 1 8 Hobasw 7 : 12. 576

HR0es SN et telok
(1) 10,30 (2) 20,35 @ 15, 30 4) 12,25
32 On a certain principal amount at the rate of 2% per quarter of an year the simple interest after
94 months is Rs. 960. Then the principal amount is i
(1) Rs.7,000 (2) Rs.5,000 (3) Rs. 6,000 (4) Rs. 8,000
£%¢6 eoden 2 DB HHI Feyery 2% TN, 24 Feood ®oNd 23°w 56 960 ErdeoHen. QN
eHen Sxneho
(1) & 7,000 (2) O 5,000 @ dse, 6,000 (4) 6. 8,000

e —

C—
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33.

If the 5 digit number 57xy4 is divisible by 11, then number of such possible numl:.rms is
(1) 8 2) 9 (@) 12 (4) Infinitely many

57xy4 @3 5 eoe) Sopg 11 & grAoH6ES, wer Jreigodlhy Hoage Doy
@ 3 2) 9 (3) 12 (4) ©30BI05Y)

34.

—

If 15t August 2022 is Monday, then the date on Monday which immediately comes afte
15th August 2024 is
2022 5 SoSySo a5 15 BB Aoao wond, 2024 H VoSG0 BHY 15 > Soges S0t K3

D80 o BES a’;:"ngacﬁﬁ es 36

1) 20 2 17 3) 18 19

35.

The average weight of a group of men is 77.5 kgs. The average weight of a group of women is
70 kgs. The average weight of all the persons of both groups is 74 kgs. The ratio of the number of
men and women in the two groups is

28 DHDO HRarEro B, KOO 2 77.5 kgs. 28 Ko Bduero By, GOm0 20tH 70 kgs
Cotad DRSS SgHer HovI8 23t 74 kgs. @ Both SRurdsee® e Hthve Soswg HBcH Q0
Qogge PGB

(1) 5:6 @ 8:7 @) 12:17 (4 10:13

36.

If (256)25 x (16)45 + (64)16 = 4K, then 5K + 4 =
2.8 JY (256)25 x (16)45 + (64)16 = 4K wom@, 5K + 4 =

(1) 70 (2) 65 @ 75 (4) 100

A

A shopkeeper bought each packet of 12 articles for Rs.51 and sold them as a packet of 15 articles,
each for Rs. 71.25. If he gets a profit of Rs.90, the number of articles he sold is

DB 12 SHoHeo Jegdew Rs. 51 Ben FHYS D o083 15 VPO AFFIENT B, HA SN
Rs. 71.25 8600 S o8 S5 efingthd. 0808 Rs. 90 evzfo 55, o ey Soe Somg

1) 90 @) 270 @ 180 (4 120

38.

Pipe A alone can fill a tank in 24 minutes. Pipe B alone can fill the same tank in 36 minutes. Pipe A
alone is opened for x minutes and Pipe B alone is opened for y minutes to fill the tank in
30 minutes. Then | x—y|= (in minutes)

830 A 25,63 2 &G 24 dreres® Dodtforth. Heo B 286 2.8 SEG 36 Dayreres® Dobeiercss.
20 A 258 x daren, DO B y ddvaren SABD G 30 Pt oo, 0 [x—y |=

(Ared’)

1) 12 (2) 10 3) 8 6
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39.

A train is crossing a platform of length 200 meters in 45 seconds and man standing on the platform
in 25 seconds. If a man moves in the direction of the train with a speed of 2 meters per second, then
the time taken by the train to cross him is

1
(1) 20% seconds  (2) 31% seconds (3) 335 seconds  (4) 193 seconds
5

200 ot PED o ey w¥ Jen 45 JELS”, BB D VD e S8 25 PEZS°

Tenehr08. 28 H58 Ben Dafeedod BES® DEHD Botd Y Stiod® SHI® &odl, WS TS
Gensd HE Dsdodo

(1) 20 Rog @ 311 ko> (3) 33% 2o (4) 19% 230l

40.

If 123 more articles can be bought by spending a certain amount when the price of an article is
decreased by 33713-% , then the number of articles one could have been bought without discount for
the same amount is

50 GES* 33%% SBocStho B8 Fots Snerd 123 Srides My S FSEONS, @l Bgrdd GES°

oD 5?&%&) 50500 HQRN© Koy
(1) 369 @ 246 (3) 123 (4) 492

41.

Two cyclists start at two points A, B which are separated by 300 meters and moves towards each
other with speeds 10 kmph and 5 kmph respectively. From A one travels a distance of x meters
and then both of them interchanged their speeds to 5 kmph & 10 kmph respectively. If both of
them meet each other exactly at the center, then x =

300 ey o’ ey otk Dothipen A 805 B © S& agtd PEJeD SR Koer 10 8.8,

500050 5 8. Stfos® 288 DD @oEES Holreso I, A Do WEH X e
$OSPEdoDD S RN BHODER HExBo 78 Jrels HotoH 5 8.20. HB0 10 8.8, o
SUNDHTYD. 58 RS PBOT SHGFe® KON, @ x =

(1) 50 @ 100 (3) 75 (4) 475

42,

A and B enter into a partnership by investing Rs. 24,000 each. But B has borrowed his investment
amount from A at the rate of 10% per annum. To look after the business, B will be paid Rs. 120 per

month as salary. At the end of the year, if B's income is half of the income of A, then the total profit
18

2.8%,8,6 Rs. 24,000 depardes® A S08a%n B e gridrgsngodirg. 50 B &5 enad 3uardy A
B0& ;DS 10% $& Fapd @) BoHamch. oegdrd JEgTEs §ois IVH Rs. 120 o ey B
éﬁﬂﬁaﬁgﬁ). :’:nzﬁeﬁgmnéueﬁ‘ B 8 SN esteafyo A & AN egmraHods® Hitfo eanss, Swebo ezso

(1) 10,080 2) 9,660 (3) 12,000 (4) 12,060
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t of work done by 3 men is equy|

43. The wages of 3 boys are equal to the wages of 2 men. The amoun - et
to the amount of work done by 5 bn}rs.cff 40 boys and 15 men worked fzc'::n]r bS wL;I:S ?niiipgfﬁa
work and the total wages they got are equal to Rs.12,600 then the wages 2U bOYS :
complete that work is (in rupees) e a3y
St Zrent Eebo R HtRve B BB, BHED HETeN 35%?‘-‘*‘“?’“’? o o
58 B8P0, 28 HID Frg BoHEAE S0 Hr0b zrentd, KB Hod @2;%:;% =63 -
BT B0 577K reBS Befo Indo 12,600 Eraroen o, & HAD Jr8 o8
2o, 263 008 HEHpen ol Heo (ErcHos’)

@) 12285 (2) 12,730 (3) 24570 (4) 12,570

44. Ratio of A’s last year salary and current year salary is 4 : 5, whereas the ratio of the sﬁimiltaz :;,fpe *
salaries of B is 2 : 3. The ratio of the last year salaries of A & B is 3 : 4. If B's present sajary is
Rs. 25,600, then A’s last year salary is (in Rupees) y =5 48 o
A G308, 8od5E3 Dodebys defo Bt Hrves HodedS Besdne PR 4 : 5. B GBug), /3 S0 D)
2:3. A &6050 B o §oised Hoedys dare A 3 : 4. B Bwg, S S¢S0 Rs. 25,600 evows,
A G30E); 1585 [0S Sefo (EraroHes®)

@ 12,800 (2) 16,000 (3) 15,480 (4) 10,800
45. 45[3af5+ﬁ—lxi+13] -
3 6 2 7 14
@ 286 2) 572 (3) 352 (4) 248
46.  Certain amount is lent for 30%, 20% & 10% compound interest successively for 3 years. When the
same amount is lent for simple interest at the rate equal to the average of the above mentioned
percentages for three years, the difference of the compound interest and simple interest is Rs. 580,
Then the principal amount is (in rupees)
S0 B SE5ES SEJTE 30%, 20% Hdatn 10% TR DI SO DoSeyorerth Rcedss.
O IR Sty DoSeTroH DS IS S& TEre HoPHO 3G a8 e Se8 Ay SE5G,
2rBSGo 8360 6. 580, ©000E @ik oden Indo (EraraHes?)
5,000 (2) 6,000 (3) 6,500 (4) 5500
47.  In a cylindrical vessel of height 14 cm and radius 5 cm, seven sphe . - .
The amount of water that fills the cylindrical vessel is (in cubic Cn‘llj} eres of radius 3 em were kept.
14 Ro. 2 © Iy, 5 Do. B © TZIo o HIFSEYy oS’ 3 0. ,
&), oD, 53° figren
BOSBAKD. © JrArSCLR) G S oe 505700 (52, 20,8 & §go to ¢
2
308 (2] 452 {3.} 336 (r.].} 412
48. ':; ;a},r thg ;umbe:;;f times both the hands of a clock Et_:-incide is T
1) 24 oy om
(2) ® n %
49. The marked price of an article is Rs. 800 and a cucr. . =
discounts. If the discount offered at the secon 4 tiz;isit:?ﬁ; }E}'s it fnr_Rs. 612 after two successive
800 Emnabien SE3 (56 i) a8 S8 DI emegyoes wpop e SiscOuNt offered at first is
Rs. 612 0% Fact. B0t 38 308 05008 15% £ [ 00 > trond grotito 70"
a  12% @ 1% o Q0e3, BEEIB oS Trand
) 20%
10%
et e
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50. A is thrice efficient than B. To finish a job independently, the difference of the days they take is 60.

1
If both of them work together and complete grd of the work and remaining work is done by B

alone, the total number of days they took to complete the work is
B 5085 A o B desnggo &Y. 6 Bgefogor AHBS T8 2.8 HAY Jrd DYy, T°08 HE

., 1 soney
Bare B0 60. TPOEDHE DR HD B 3 FP0lo BAV S0 AOS HID B 2),E B, & B

8 SIS 08 HES Jwdo Fare Bodg
Q) 7 @ 70 @) 675 (4) 725

51. Which of the following gases is released into the air by automobile exhaust ?
808 & ea5ND) BE'BNBS Lo JewHts WFYHE® TR0 1958 BrH06008 ?

(1) €O 2) COy @) s02 (4)  NO

52. Boiling Point of Water in Kelvin Scale is
D3 Gt eripasdS Joon 3OS HrdSne”

(1) 100 (2) 27315 (3) 0 (4) 37315

53. Match the following lists.

List - I List - II
(Bio fortification) (Available in )
(A) Vitamin C (I) Maize
(B) Mineral (II)  Wheat
(C) Protein (III) Pumpkin
(D) Vitamin A (IV) Spinach
(V) Bitter gourd
CERTTARCIASIIINY 230558506,
HEIE - 1 e3¢ - 11
(DR WwH6EHW) (D86 Do)
(A)  DeONS-C () SHETRY
(B) ez () 5o
(C) &3 (1) HApcesead
(D) JerS-A (IV) Srosrd
(V) s°86
The correct answer is / K8 &0 SISV

(A) (B) (© (D)
) @ @) @ @
) (v) @av) () ()
(v) @) (m 1
9 vy (m @ @
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54. An electron moving in a straight line enters into a non-zero magnetic field and goes undewategjl

5 5 - 8 ti{: fiEld is
The angle between the direction of its motion and magne -
28 dogrge ¥ T Srdo o HoSreddr Jsodo Bo&Hote @oHI0e8 §50e5°V8 u.:-;i%ﬂ:,nﬁ.
&3 S £

S5 BFDH 0aKD aHATY 08 FEPAS Koy &) §eso

(1) 0° (2) 30° (3) 45° 4) 90
S -
55. Which gas leaked during Bhopal gas tragedy in 1984 ?
(1) Methane li(2) Ethane
(3)  Methyl Isocyanate(MIC) (4)  Ethyl Alcohol
1984 &§° 2005 &S aroin OIS DT (leaked) Tratnd D6 ?
(1) 385 2) &35
@ 23S oIFDe (4)  &BS werrS
56. Match the following lists.
List I List II
(Ministers) (Portfolio)
(A) Dr. Virendra Kumar (I) Heavy Industries
(B) Dr. Mahendra Nath Pandey (I)  Social Justice and empowerment
(C) Dr.Jitendra Singh (III) Science and Technology
(D) Dr. Subrahmanyam Jaishankar (IV) External Affairs
88 So8 HEEOK 223e8DBS0S.
DEIE T DG 11
(&olghen) (raﬂa:m)
(A) o586 Dol s ) erd HBEHe =
(B) wgb DarolTrs drod (D)  Srsres T30 508050 PSS o
(©) g6 £8ols boh () 2S) wof Bsned oy S35
(D) ©¥6 Bojwseego exdHEosd (IV) 988 S5585e w0y

The correct answer/ 58 @005 SS5GRSEED
(1) (A) - (), (B) - (IV), (O) - (1), (D) - (1)
() (A)- (@), (B) - (), (C) - (1), (D) - (IV)
3)  (A)- (III), (B) - (I), (C) - (1), (D) - (IV)

(A) - (1), (B) - (1), (C) - (I1I), (D) - (IV)

e

7. Which of the following compound is present in bacterial cell, plant cell and also in animal cell ?

(1) Cellulose (2) Histones

(3)  Non-histone proteins (4)  Phospholids

& 508 TRS°® ) $yEssw (compound) zeds

ik sbodogell ) (compound) 2rg8805y S£3065°, 300, Eea065® LrBaghy 230e65pe) Eeaod
(1) Dergs’s (D) %8ser

(3) T geedisoes RN

= — -
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Which of the following is an operating system ?

58.
(1) Oracle (2) Java (3) Win runner (4) Linux
& (Bob TES° ©BOBOR BJS (operating system) D& ?
(1) woE® (2) eror (Java) (3) DS 650 858y
59. Match the following lists.
List I List 11
(A) Chandrayan () India's first lunar probe
(B) Mangalyan (II) India's fiI/'st inter planetary mission
(C) Astrosat (I1) India's first space observatory
& S0 DHSV BSDESoC.
‘?'.Jégé I :J%;’E 11
(A) SRS (1) grBEd8o Bwd) InInES Solthd P VBEES (BEK
(B) oKREAPS () grEsddo @) BwLInsB ©odb (&> MBS
C) oRizS () 758830 @) Soeansd ©osdE $88e8 Soo (wa)Bid)
The correct answer is / 008 @008 Ds3PEPRW.
1) (A)- (D, (B) - (1), (C) - d)
(A) - (), (B) - (1), (C) - (11)
3) (A)- (1), (B) - (1), (C) - I)
4 (A)- 1), (B) - @, () - {1
60. Match the following lists.
List - I List - II
(A mineral component of) (Mineral function)
(A) Ferredoxin (I)  Redox reactions
(B) Plastocyanin (II) Maintains ribosome structure
(C) Middle lamellae (IIT) Stabilizes protein structure
(D) Chlorophyll (IV) Formation of mitotic spindle
& Sob) HeIsd a3esHSoce.
58 - 1 Sgs - 11
(9:50508080) (20 B0E), )
(A) EGS () HoSm8ysten S5
(B) RIS (1) 30 JoyeaeR) AEZrPod
(C) éb;gﬁﬁﬂﬁ (111) 5e3S QURETRY) ﬁeﬁﬁatﬁ)‘_"@uﬁ
The correct answer is / 0 @02® Ll
a) B (© O
@ @y av) (@ @
@ @y @ v @O
® @y @ @ @
@) @ @ @v) @
e
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61.  Which of the following contains CFC ?

(1)  Varnish (2) Wall paint

(3)  Refrigerant (4) Aerated drink

CFC 083 &2 $08 500¢5° SlelovibTA!

(1) =& 2) e oo (Wall paint)

@) 2sessa 4) rmO8° ErES 3Hoho
e

62. In which of the following cities is the National Cyber Forensic Laboratory (NCFL) located ?

(1)  Chandigarh (2) Bangalore (3) Chennai (4) Hyderabad

& (08 a3WaES SKBZ0eE® FKSS Db BYE Jended (NCFL) a8 afbd ?

(1)  Sodnb (2) Borbstrdd (3) @Ry rcsTeerd
63.  The mosquito repellent used at the home in the form of a coil, liquid etc. is

(1) Sedative (2) DPesticide (3) Insecticide (4) Fertilizer

B0 8 Seo 550 VDS IH580 (coil), (B8 BEBS Brarerd® a8

(1) Soek065 @ Doho s ((3) §wsosd (4  SthHen
64.  The escape velocity on the surface of the earth is

2 588002 HeroHS SHsn end

M 98km/s (@) N2km/s  B) 196kmis @) 4o km/s

65.  Unburnt carbon particles cause the following problem
(1) Cardiac problems (2)

(3) Throat infection (4) RESpiratury problems
o (Unbumnt) 5288 gekmen & (5ol I3 988y,

Skin infection

(1) 9ol BozsoRods By

(3) Foe® esotyy A (rﬁnﬁu}'&)ﬁ) B9 555'3""& % 55355
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66. Which type of ecological adaptations are present in plants those grow in conditions where
temperature is 25°C and rainfall is less than 25 cm/year ?

(A) Reduced leaf lamina

(B) Deep rooted root system

(C) Thin cuticle

(D) Well developed mechanical tissue

(E) Root pockets present

(F) Well developed aerenchyma

(G) Single layered epidermis

&g‘ﬁé 25°C Hdasn K)gim:én 25 cm/vear §5%) S T ﬁﬂ?g@ﬂéﬁ 200 anﬁbﬂﬁs iy tfvééﬁ-ﬁ
£U°00 @REFOTLD GoeTo ?

(A)  Ee3oDS He STS

(B) &% Hrga0dS I 5959

(C) DD @52FAR

(D) eere e9sHb R {elATS cﬁo)-:.“f. Eeaere)adn)
(B) 36 ernen $OH oo

(F) e D BobS aefasned Seazrresin

(G) 28 SE (o 2drges)sn
(1) (B), (F), G) (2) (D) (E)(G) @ (A), (B), (D) @) (A), (Q), (E)

e —

— —_———— — o —

— _— L= = T —

67. What happens to the chemical constituents in leaves before leaf falls ?

(1) ‘Ca’is mobilized to other parts of the plant

(2) ‘S isalways transported to other plant parts in organic form

(3) ‘P’ is mobilized to younger pa
no acids is carried to other plant parts through xylem

rts of the plant through phloem or xylem

(4) ‘Np inthe form of ami

a9y ood3 ot op3e5® &ote B
‘Ca’ 308, @), *SC 2TTPRS) DAEBoSeacodoed

a$HS SPgren DdodyErow ?

(1)
@ & BB Grioss® B, O 286 FEmeH 6 = rerthodhood
@) P HAE EeaeIre0 5% orthed TIo° et S0E), B0, srres) O 20H23¢e808

@) Ny oS @) 06 TPEOD TIT° 28 Swg), g, FTO Byertse8r00

_____-—-—-_
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68. The Constituents of German Silver (Alloy) are

(1) Cu, Agand Zn (2) Ag, Niand Fe

(3) Fe, Auand Ni (4) Cu, Znand Ni
23S VIO (Mo %5065 &old §%55en

(1) Cu Ags8astn Zn (2) Ag, Ni»8as» Fe
(3) Fe, Au 5805 Ni (4) Cu, Zn S8050 Ni

69. How many pillars were identified under Digital India Program ?

&26S molair H58o (DY) (8o 2R Bogred (pillars) HBODTS ?

(1) 3 @ 9 3) 11 4) 5

70.  World energy needs are rising mainly due to

(1) Deforestation (2) ME}easmg population and industrialization
(3) Inflation (4) Natural calamities
200cS 48 Tok) wIHTen doggore & (808 ¢ Sed &d}fﬁ&)&iﬁm

(1) e wosBonwsEo (@) =50 Bsvtse Soats o

(3) ESgeneso 4 858 SHOerger

71.  The force between charged particles is called

(1)  Electron Magnetic Force (2 Strong Nyclear F St

(3) Gravitational Force 4 Weak Nuclear F
clear Force

6388 Sero DG 60T ey VOLwE),

(1) Digiahod oeo ) (e T;.,E.;,@g T

) UnmEdmmen ) S)e Sols¥ aeo

__\—\\"\____
23452-B /ET 14
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72.  Match the following items in List-I with corresponding items in List-II and choose the correct

answer.

List-I (Names of the Scientists) List-11 (Major contribution)

(A) Albert Einstein (1)  Discovery of Electron

(B) C.V.Raman (I1)  Quantum Statistics

(C) ].J. Thomson (I11) Theory of Relativity

(D) S.N. Bose (IV) Inelastic scattering of light by molecules
& §ob w=dee - 1 S womed wrdee - 11 &80 Bowohs womed® udHL, QD00 QTP
Q0tHS 0.

smilage - [ [Eﬁ@%ﬂ -EE_}&JH) epfae - 1 {ﬁé@é @DEE“H“HJ)

(A) g 0SS () QS DoY) vdHTeH

(B) 2.9. oo (I) sego®0 Kewwo¥ 2°(Ro

(C) BB i) (1) g drpodo

(D) IR.28. &1 (IV) @mHos® 5208 oSS H0gHe

The correct answer is / 58 @035 HSFLPR.
(1) (A)- (), (B) - (IV), (©) - (1), (D) - (I)
2 (A)-@1V), (B)- (1), (C) - (1), (D) - (II)
(3) (A)- (I, (B) - AV), (©) - (1) (D) ~ (1)
@ (A)- @), (B)- 1), (©) - (), (D) - (IV)

73.  Which of the following fields does not have the Nobel Prize ?

(1) Economics (2) Literature (3) Physics (4) Mathematics
& 306 oS IBS exi0d (Nobel Prize) 5 BoKEns® 88 ? |
(1) 08 7o (2)  dirdgEw (B) F8ETRo figdes TR0

74. Natural Disaster Management Authority (NDMA) is headed by the

(1) Health Minister (2) Finance Minister

(3) Home Minister (4) Prime Minister
ﬁé&@ 55’35@"5&) 36&5’5"3& Do (NDMA] Ha él}ﬁ ) Eﬁﬁsﬁsgpjﬁ é{,ﬁ)ﬂjﬁ;&&.
(1) esB%ig @ge o (2) B8 =y o8

(3) &5 war H0@ B 008

which of the following alcohol causes blindness and even

€

75. By consuming in large quantities,

death ?
(1)  Ethanol (2) Methanol (3) Propanol (4)

& 0B THS D egey), S350 0B eSSt @oicsdn SO @0(5e8Qn B0y Sreadn K

$025D008 ?

(1) 2SS @ DESS (3) @;n;agﬁe‘j‘ (4) %&5’55

15 T

23452-B / ET
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76.

Where were “Roman Coins” found in Telangana ?

1) Nustulspur @) Medak () Nalgonda (4 Adilabad
Soomresd® B80S TeEen” 885 HB¥o DO ?
(1) Sokoerior 2) BoesE @ S5 (4) eoBererd
77.  Two entities are given to the left of :: and these are related in some way. One entity and ‘7’ are
given to the right of :: . Select a suitable alternative to replace ‘?’ so as to keep the a.n.alﬂg}.f.
AHSS » & DTN 2.8 DeSSare F'JGEJUE;F‘%& ED0 Bocd desedven (entities) ST
D0 = & DEIHS af Skpdighin (entity) 2k 7 0. © Sorerr) SIEBE 7 S QD)%
VENE® Dok IXPE 258 BoHrod.
PEN:35: RAN:?
(1) 35 2 32 @ 33 4) 36
78.  Chandragupta II is the son of
(1) Samudragupta and Dattadevi (2) Samudragupta and Kumaradevi
(3) Samudragupta and Dhruvadevi (4) Samudragupta and Prabhavatidevi
GotsS SoGthHshed DB HEFE
(1) RB0E NS 53808 SR (2)  DBE0EHHE SoBas HEFESH
(3)  OBGHHEE Hr00sw EHTAD (4) . DSEHE Sobaky PSIALNELTA R
79. In a certain code language ‘DOMAIN’ is written as "ALJXFK’. Then in the same code language
‘RATION' is coded as
2.8 §% 205065° 'DOMAIN' % ‘ALJXFK’ TR @3 5% 20Ge5° ‘RATION’ RBug), 5%
OXQFLK (2) OXPELK (3) KLFQXO 4) KLEPXO
80. The famous ‘Siddeshwara Temple’ centered at Hanumakonda was constructed by
(1) Rudradeval (2) Prola Raja I
(3) Rudramadevi (4)  Achitendra
SPREHESR HAES DY ©eahy’ oo Dk ?
(1) 300658 HESBHes S05e3 sergoes
B) G558 (4)  odBoggres,
81.  Let A=B#C=D <E <F. Which of the following is corpect 7
A=B#C=D<E <F eomro. & §08 TUS® D6 Dasg 7
1) A>C (2) D>B B) A>c=D>B @ D>B= A<(C
82. Wi he First Indian to have di ead o B
5 10 was the First Indian to have ssected a dead p ?
(1) U.N. Brahmachari 2 uUnN E‘fl};tm modern time
(3) K.N.Das g . (4) Madusuclan Gupta
BCHANE sternest CEVLAY &5 805063 {E‘lssectﬁ-d) mﬂmﬁﬁ 20E0HS 5K ?
(1) oS, DS, w8 ) afw. 35, x5
3) B 8. oh 4) mﬁ}ﬁ?lﬂs B
___-_-_-_-___-_'_""'---._____
23452-B / ET
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83. Identify the Shankarachrya’s four headqgarters of monasteries.
(1) Kanchi, Sringeri, Dwaraka and Puri |
(2)  Puri, Badrinarayana, Kanchi and Sringeri
(3) Puri, Kanchi, Sringeri and Dwaraka |
(4) Dwaraka, Badrinarayana, Sringeri, and Puri
FoST gD FrDosdS et HEee IS SodBne Kok,
(1) o), §)o1d, orgds S8asn Jyrd
(2) &8, 28mrorchHEs, Ko 80k oo
(3) &0, Hod), $oiid Ho805 Tl
(4) ©eg8E, 2fcrorahHes, €0l 58050 0
84. Equality before law is part of .
(1) Right to Freedom (2) Right against Exploitation
(3) Right to Equality (4) Right to Constitutional Remedies
c5€) HiSsedesgo GRS gxetio ?
(1) g Sy 2) Se&So oS HoLy),
OSSR (4)  oremgols DB S,
85. Which state is the largest producer of Chilli in India ?
(1) Karnataka (2) Gujarat (3) Kerala (4) Andhra Pradesh
2T 0e5t QtsHsohH LI AR o Dotsom orQ90 6 ?
(1) Eoeexs (2) ozmoes (3) &8¢ (4) esofs HA3S
86. What is the old name of Secunderabad ?
(1) Mohalla (2) Lashkar (3) Patmam (4) Dewdi
D8ogrerd B, Jves DO ?
1) Bwodeer @) o (3) Hexo (4) dSé
87. When was the First Industrial Policy of India launched ?
(1) 1951 (2) 1965 (3) 1948 (4) 1981
88. Buddhavanam, a Buddhist heritage theme park, was inaugurated recently at
(1) Hyderabad (2) Bhuvanagiri
(3) Nagarjunakonda (4) Sarangapur
(550 ©F TG TEOES BS> AL I Frbofoerty 7
(1) FThowbd 2) 205500
@ oS Eock (4) dBorrsrb
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89.

members.

The total sanctioned strength of the Rajya Sabha 1s
oresg el GBE); H0233ed QB H2Igess Hog : -
(1) 210 () 230 @) 20 (4)

90.

id to his brother-in-law that #q
Pointing to a photograph covered with a curtain a man 5al O s brother-in-law that

she j
; : ] r 15
mother of my father’s daughter”. Then the person in the photograph is related to brother In-layy o
that man as '
(1) Mother-in-law (2) Daughter-in-law (3) Elsmr @5;(4) Mother .
.8 BES° €2 60D DY Sk Srdigr a8 HODE T &S & gor T, "6 o my
EreHH B9, & D HODS® @) $5585° @ HHD & 8 1o Sozoio
(@) o (2) S%en (3) %6 (4) &8
91. Smallpox is caused by .
(1) Ebola virus (2) Variola virus
(3) Herpes Simplex virus (4) Influenza virus
203 & S0d DOV I DO
(1)  deSer 65 @ H0LL DD
(B)  ByD Dopsy S (4) 2oz DD
92.  Who discovered rock art sites at Bhimbetka ?
(1) A.CL. Carlleye (2) V.S. Wakankar
(3) H.D. Sankalia 4 MLK Murthy
DDBEY S o DS Horwes ST D35 ?
(1) 2536 56 (Carlleye) 2) .38 st
3) 3ed. &. Dosedass 4 oo, 5 3 Sx°0
23.  Whatis not a characteristic of Indian ECDan}r ?
(1)  Low per capita income 2) E . ;
Xces Agriculture
(3) High rate of population growth (@) High 5'1;1;& deE:niiir;zenn g1
= r capita
fli*] %uf; ::K);:Fﬁﬁ 08 955 By, om0 o 58 2
0
b= TORY e @) 55583050 2 Sy, S egrsBLE0
(3) 233 DENHS ewBLome éotitso 4) o
VRS Se58 esmrao
94. Which of the fﬂl[nwing is the cold d . -
(1)  Thar Desert Esertéi; India 7
(3)  Rann of Kutch Desert (4) LE’fdakh Desert
D OBEF05°D B0 IO G 306 TSt 2Da ? Jaisalmer Desert
(1) &6 des ©)
OGS
B) o8 b5 oo " ® o
) Eﬁﬁéﬁ oo
23452.B / ET T e e
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. Who was the author of “Shiva Yoga Saram” a famous book of Kakatiya age ?
(1) Vidyanatha (2) Jayapasenani (3) Kolanu Ganapatideva (4) Baddenna

o B e SerdE BodS ‘B5BrHAE0 ©I ol Be500E DG 7
(1) DegRrEded (2) 28CHIDTN (3) B0 (fadddH  (4) 23S

Identify the place where famous Jain scholar “Rishbanatha” lived after escaping the torture of
Eastern Chalukyan King Raja Raja Narendra in Telangana.

(1) Warangal (2) Hanumakonda (3) Patancheru (4) Kotilingala

tly) ey TeRS TresTresdtoil) Ao BEE°BY BRZTEHBS B Dodehocd Berorreads”

QSR Ferd) MoQotsod.
(1) B8t Q) sss8ocs 3) HrSBHH 4) &8dorre

How many schedules are there in the Indian Constitution ?
28¢5 TPesPg0tioeS® AR eyl Ko ?

(1) 12 @ 10 (3) 11 4 9

Which of the following statements is not correct about reign of Akbar ?

(1) Raja Todarmal, a Rajput noble became Akbar’s revenue minister.

(2) Raja Birbal, a Brahmin rose to high position and became Diwan.

(3) Raja Mansingh, brother-in-law of Akbar was made the commander of the military forces.
(4) Promoulgation of a new religious philosophy called the Din-I-Illahi in 1582 by Akbar.
@éﬁg seePR8 HooHHod) s Sobdd a“a:g,&‘mﬁ:-éﬁ 2O HBwoN0d 50 ?

(1) oresgsnesress ansd °6BHHS )b Bug), 338y SoBme oHMocsai.

(2) e DES g o K DEHen @B BT M AoDHAosIB.
(3) %5 &5 er5BE @0 SErSHoHD PIFESHIN AoHNB.

(4) 1582 ¢&° ‘65-5-meo°er (Din-I-Illahi)" e S5eesd Soeed)) )b HEodl.

M is son of A, R is daughter of V, S is sister of M and R. B is married to S and K is son of B. M is
onlv brother of S and R. L is daughter of R. Then L is related to A as

(1) Daughter-in-law (2) Daughter (3) Grand daughter (4) Aunt
A B, HXeEE M, V Bng), $55°8 R, M 58080 R © 3658 5. B £ S & Daedieo 238008 $5805
B @Bng), Hidrd K. S 508050 R © 38 A6estvesy M. R Bwg), £55°3 L. eopcdr A & L o t5e)

Hozyotdo
(1] gsCqu'.lJ (2] ﬁPPﬁJﬁJ @ 4434454 yryoe ) (4} &b P_:§ fﬂ} R}J
00. Identify the capital city of Rastrakr{tas -
(1) Badami (2) Vengi (3) Pattadakal (4) Manyakheta
o) Keene TPeE) N6 ?
(1) e (2) o (B) DQEEE @ Sovsgitso

e L " LT
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101.

rnool, Bellari and Anantapur tq Bast 1.
Identify the Asafjahi ruler who ceded Kadapa, Ku Ing;,
Company.

i - Ali - Khan
(1) Nizam - ul - Mulk Ei; ;I;zzilr_l ujl.ldau[a
3} Sikander - Jha b .
E‘ﬁiﬂﬁ:ﬁj 'la;{?r;c;; §£EJ45§ EE0, K6y, 22978 svdasn wéaéoﬁfg& FYN BRI ar reryess 5 »
(1) Nesro - &S - S0, @ Desvo - 9 - P°

102,

Select the suitable alternative to replace ?" which c?ff‘lPIEtE; %zéméﬂwmg series.
SoB FedD 5y BaDEERS HBBoS RS DY 7 > 258 OCs.
2,4,7,12,19, 30, ?

43 (2) 39 3) 35 (4) 45

103.

T—

‘Communal harmony could not be permanently established in our country so long s
highly distorted versions of history were taught in her schools and colleges, through the history
text books." Who among the following said this?

(1)  Ravindranath Tagore (2) Mahatma Gandhi

(3)  Dr. Sarvepalli Radhakrishnan (4) Jawaharlal Nehru

TV WO STV BELBoDD SO FodAven 5 6oDB0BBBL FHSorr e D06y

PSS AT, & T AR & Sod T8 D672

(1) Sdogmrd Tz (2) Do) rod

() & 28508 vargns (4) 2356 oS o

104.

List-I List - II
(Texts) (Languages)

(@) Kesavasuta ()  Bengali

(b) Adipurana (if)  Tamil

() Durgeshnandini (iii) Marathi

(d) Pancali Sabdam (iv) Kannada

BAE- 1, 2De- [ 5 266589 RS BErEmEsa 05550
erdege- | 2Dee- I
{ﬁﬂt‘.ﬁm"mm) (aﬁa’lﬂ:)

(@)  SeS0es (i)  Borred

(b) B ore, (i)  SES

(€)  H3K 50 (iii) Soo0

(d)  Sroced iegy (iv) 85

The correct answer 1S / 358 esoys RSILS 80
(@) (b) (o) (d)

(1) @G (i) (ili)  (iv)

@ i) @) @)

(3 G(v) () i) (iii)

(4) (ii) (iii) (iv) (i)

20 HUIAMn
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105. The recently restored 200-year-old heritage building in Osmania University College for women
was originally a

(1)  British Residency (2) Nizam’s guest house

(3) Military headquarters (4) Royal polo grounds

Qtdde &0 E)é‘gamvge_:g:{) Bo2pqgo Lgoareres® mamgﬂmmm 200 e F’Ju&ﬁeﬁn\_}ﬂ"ﬂa‘éﬂ SNHTEHD
TEVEG &R0, wdew (originally), (0B @) w8 ™ €506
@ D BRHE (2) Nerd @B thro

(3) desd Hes seorgecfho 4) ores DogfoSS S Jorredo

p—

106. On which line does the date change by exactly one day when it is crossed ?

(1) Equator (2) Prime meridian
(3) International Date Line (4) Tropic of cancer
D S&° 8O 205N PABore 208 BIHN BIES0E ?
(1) 2~ S (2) DI IBEAHS
(3) oesTrB0SH &S B (4) 5 3

107. Which of the following states or Union Territories is home to the Pir Panjal range ?

(1) Arunachal Pradesh (2)  Uttar Pradesh

(3) Uttarakhand (4) Jammu & Kashmir

&3 808 T3S D T°)9RXNS® Sz S0l DS FrodHneS” 1B DHoers Fed Korcd.
(1) eSS HA% (2) &6 HBe

(3) &dbormok (4)  essdooy 550050 soRD

—

108. From the given alternatives, select the one which is different from the other three alternatives.
$0e5 YN &Jsﬁa}é‘ 2,563 AOD 05°C0e38 DFYor 01D 06 258 DS ANEDE.

(1) 49 (2) 81 8 = o

g mountains are formed due to stress ?

————

109. Which of the followin

(1) Himalayas (2) Black forest (3) Vosges (4) Mt. Cotopaxi
2 BB eI, 2B HeTHBN HON DY HEgessnen DD ?
(1; srspocivey  (2) FETR (@) SRS (4) S50 ey
00, India is . Socialist ____——country.
?;)d N S;EZ‘:EI’EI%“ (2) Democratic (3) Republic (4)  All the above
e BHo 2.8 OGS AT —
1) &8s @ eSS () 0088 O
~ e S S —

i
} 21 JATRATa
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the Aravalli range, ends in which
111. The Luni river, which originates in the pushkar valley of i
the following ? 5

h 116.
(1) Asa tributary to Sabarmati (2) Rann of Kulc
) o g Mo 63¢5° B3ES° 5080 (ends) BN, ?
oS0 363 S5 Y5 STHe’ 230D oV BB &a 8ob &° *
S
(1) DB GBSO (2) 68D &
(3) BDAH Ddibtn (4) LTt 9D o
et EllE — 117
112. The word (may not have any meaning) to be filled In th;ggglgj%ﬁm the roliowing series is
s §00 F3S° g0 JeSody 258 IANIOHS Do (@80 é0
A, CD, GH], , UVWXY, EFGHI]J ‘
(1) LMNO @) KLMN 3 NOPQ () MNoOP
113.

Arrange the following in Chronological order
(@) Second Carnatic war

(b) Battle of Buxar

(¢) Third Anglo-Mysore war 11
(d) First Anglo-Maratha war
208 23D SKOD FDHB0S® BB

(a) Botésd Sgres afngdsdm

(b) 255 oSgdw

(€) SoseES esofP-Bodb asugisin

(d)  R20¢e3e3 90 -H5o0eE° 0IEINN _
1) @) (b)) () (d) 11
2 @) () (b)(d)

) (@) () (d), ()

@) (), (a), (c) (d)

114. Who received 57th Jnanpith Award ?

12
(1) Nilmani Phookan Jr (2)  Akkitham Achuthan Namboothiri
(3) Damodar Mauzo (4)  Amitav Ghosh
5725 DG WO B0 (VT°Ed) D émgmnlm ?
(1) Qo 2y Besb @) 085 wged Sowrad
(@) waras svs @) oS prh
115.  Who appoints the Supreme Court judges ? o :
(1) Prime Minister

(2
(3)  Vice President ) At’tt‘-rney General

(4} PTEE'
0230 §°¢) TrgaHrGHO8 AaHoBH 56 2 ident

1) Ho° o

@ _
B) & OB @?‘5& 2566

A e TRYHS

23452-B / g1
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116. The group of seven (G7) held its 47th summit in

(1) England (2) Washington (3) Oslo (4) Cuba

23-7 ABE); 47 & B33 Fo 28RS 1HB¥o
() =otol (2)  ar2wiS (B) (4) Swger

117. Identify the Velama ruler who has shifted the capital city from a Amanagallu to Rachakonda.

(1) Singama Nayaka-I (2) Betha Nayaka

(3) Anapota Nayaka-I (4) Kumara Singama Nayaka

"@0000e0” Dok TPSE0ED TrRErA BEDoNS Iwsdoreriy fotdod..

(1)  S05Ed dotfadd TPoHEE (2) B TeoHKHE
@ 006563 SIS TOHEES (4)  SETE Dotisy TaHHE

118. Where did the ‘Mahboob-Shahi Mills’ founded in 1884 located ?
(1) Hyderabad (2) Gulbarga (3) Nanded (4) Warangal
1884 & Hodesy8oes® g‘bnrﬁé ‘Sodreared apar Y )¢ SolE)HER &od ?

(1) rdsooerd @ Senge (3) ~od& (4) S8t

119. In a certain code language if GAME =30, RAT =42, then GREAT will be equal to
2,8 §°E o30565° GAME =30, RAT =42 @00, GREAT £ S85r550 eddgd.

(1) 46 (2) o4 3 59 56

120. “Dakshinapatapathi” was title of Satavahana King

(1) Satakarnil (2) Pulomavill
(3) Gautamiputra Satakarni (4) Yagna sree satakarni
" SREFHEDE” 93 DO EYD BT T
() 00568 wesed Q) Borks LHeSisrd
(3) @S5 TSP (4) oD sl

.

121. Which state of India first impIEmEﬂfEd the Right to Information Act (RTI) ?

(1) Tamil Nadu (2) Telangana (3) Madhya Pradesh (4)  Bihar

GBS ESD D TryEw DGRVEET RBPERG Lrey), ) VIV BB ?

@ SR () Bwor® () oty @3S (4) 56
- [—

— 2 AR
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122. Match the following.

(Freedom Fighters) (Native States)
(a) Jayanarayan Vyas (i) Kashmir
(b) K. C.Reddy (i) Hyderabad
(c) Premnath Bazaz (iii) Mysore
(d) Ramananda Tirtha (iv) Jodhpur
&3 $08 7R 23¢50BHSHdw.

(.%ﬂgpﬁnég Beeoen) (E’Ju.gﬁéénen)
(a) 230HRTCAHED G (i) &6
(b) 8.0.0& (ii) 3ecSorered
(©) DT evewe (i) Db
(d) oTeerRodl &Y (iv) =%%rb

The correct answer is / 58 @905 HAFTHELW.
(@) (b) (o) (a)

O O G ) @)

(2) () Gi) @) (i)

) (v) () () (i)

4  (v) @) @) (i)

123. Where is Sardar Vallabhbhai Patel National Police Academy located ?

(1) Mussoorie (2) Nagpur (3) Hyderabad (4) Chandigarh
RI6 dyzieraw HEIS HVS IO oseids I8 ¢ ¢obd ?
(1) 20026 2) =6y @ ETerS (4)  Sodnb
124. What is the vaccine given usually to children in the age group of 5to 15 ?
(1) Malaria (2) Measles-Rubella
(3) Intravenous Polio Vaccine (4) Diphtheria
0D oD HAPS 0638 SOHR DOV Aereteaome IR T33\S DB ?
(1) SHB8ase (2) RN - ErBe
() RordSR HORr oog8)S A58085

125. On which day Lok Sabha accepted the Separate Telangana State Bill ?

(1) 1e6th February, 2014 (2) 18th March, 2014
(3)  18™ February, 2014 (4)

( 20t February, 2014

SgE Boorres togy Dewnsy 58025 & o ©0058od08 ? y

(1) 16 2558, 2014 (2) 18 sway, 2014

8 |
@) 18 22586, 2014 (4) 20 32958, 2014
126 :T}hlcl:;f ;he following is an example of exnuﬁeauﬁ rock ?
é .
(2)  Graphite 3 . (4) Basalt

&2 808 ame3est &55eh o) 3o &edeses NE ? 5

1) o5

(1) P 2 o S (3)  Zeyezatned (4) E‘}'ﬁ.ﬁé’
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127. Which one of the following pairs is not correctly matched ?

{Asspciaﬁuns] (Reformers)
(1) Atmiya Sabha - Raja Ram Mohan Roy
(2) Dharma Sabha - Prasanna Kumar Tagore
(3) Tatvabodhini Sabha - Devendranath Tagore
(4) Goodwill Fraternity - Keshava Chandrasen
83 £08 °83S° DB HBONS 2368 5ok ?
($oigen) (Gosysgen)
(1) &S Des - P2 TP ISP TPOD)
B Hes - 508 H576 Tetirb
(3) B8RSR Hes - B30gmed wotirb
(4)  (DEDS 2es8)e8 - 845 SoBd

128. In the below series select the suitable number and letter from the alternatives to replace the two
blank spaces.

SoB FedS” (5o Boch g7°d ey 258 BaHwrdS KOG ©od, WEBvIH BN K& EYEHE.
Z,X,22,20,R, P, 14,12, ],

(1) H,F 2) 8,6 (@) Hs (4 8F
129. The Council of Ministers of Government of India is controlled by
(1) Rajya Sabha only (2) Lok Sabha only

(3) Both Rajya Sabha and Lok Sabha (4) None of the above
geGes HEHESS Hod SEHNK ADHoBoRd

(1) oreg das Srgd @) &% e sres
(3) oreag Kes Srbasn & Kas 4) 2325

130. Select the one of the alternatives, which is different from the other three alternatives.
CEANNESTANCORNETE 2,563 DS o50Coed Kood Dot e0taertn &0k AN dKNELE.

(1) DHLP @ EMQ () LPTX it
131 ship was decommissioned at Naval Dockyard in Mumbai.
(1) INS Vikrant (2) INSParakram

(3) INS Rainbow 4) INS Gnr::*lati
L3303 35S wEoird &° VY K308 DEOEBS oo FE DB ?

2) 0.8.I8. HoCE
(1) ©9.05.09. Dgvod
() 558008 & 0.08.05. F:5B

- i ersons wrote “Nitisara” in Sanskrit?
132,  Who among the following p 2)  Jayapa Senani

- 1o Rudradeva
%% I}fdl;fav;lli Ramakrishna (4) None of the above

" G HoB0S° Do ?
%> “HBAIE" & VoMl 5
?}éﬂa Zag:ai (2) 20D DR
o° eJ ) -
(3) SwsdHE TR (4) 235D

— 25 AUTRTIATa

834528 / ET
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" " 4 . = S, -?
133. Ukai dam is situated across which of the following rivers -
(4) Chambal

{]] ']‘ﬂ]_'!i (2} Nn;-nﬁull] (1} I‘:..ll"l.-"t'-ri
& 800 °e3S° GSPaN WS & SOS WEHV° DEoesecO0.
(1) & (2)  Sees (3) s°0 (4)  Soand
134.  Which one of the following statements is not correct about Jinnah, the Muslim League Leader?

ant role in the conclusion of Lucknow pact in 1916,

d made it clear that it was only on its basis |
possible in future.

(1)  Jinnah played a very import

(2) In 1929, Jinnah formulated fmlrl-eenpaints an
unity between the Hindus and Muslims would be

(3) He has nothing to do with the inception of Muslim league in 1906.
(4)  Under the leadership of Jinnah the All India Muslirn league passed a resolution at Lahore|

the separate nation for Muslims in 1944.
& 308 HHSBB5NS® B HEE wd 2o HewoBod SOSB (not correct) ?

(1) 1916 ©8% 2sdyotSoes® 22 Sngg ey Hao3R.
(2) 1929 &° 14 Bresdnen HES30D B srrdorrs HANGES” Srothapen HH8aky Snoe &
50588 &0cstiRi) HEE3oB.

(3) 1906 S0 HE & FR05tEoes® ot ek Be.
4) S R0dose Sno HE 1944 HoBefyBoes® emFh &° 8T TOHEB S SIFSHSo0n o
DB BEBw GBS0l By Boedocstéskn 23600d.

135. What is Metaverse ?
(1) Video Game
(2) Piece of puzzle
(3) Virtual World for people’s interaction
(4) Low Connectivity
Sexr56y o3 DB ?
(1) DGR B
(2) D&y, J06 errio (0D 9D 1‘.-%%6 )
@ SgEHe Sogreieaer 50 SENSS HHocso
4) a0 E38e8
136. Which of the following has 5 time zones ?
(1) Canada (2) Sweden 3 . il China
India (4) L
&z (8ob A T8 5 $%cH svotieren Bog) ? ©) e
1
(1) 3% (2) s (3) eposded» () T
137. i leads in sugar exports in the world, o
ndia 2) Brazil > 4)  Thailand
c58).6 u}r‘i)u“fnﬁjtﬁ‘ 2R0cs iy Sido (3) Egyp! (4
(1) aréd 2) 3
(2) Bads (3) ﬁ‘jaaﬂ:«g (4) EPON°0G e

—_—

= e

23452-B / ET % A
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138. Select the suitable alternative to replace the blank space to complete the following series.
808 3630 0 SoHEA8 gyd S LNNY DOG E:Q)énés zﬂ_&ﬂ S0Hocs.
BI9N, E14P, ___ ,K7T, N5V

@ H10R 2) J10S (3) I9P (4) HOIR

139. Elysee Palace is the official residence of the President of

(1)  United Kingdom (2) Srilanka
(3) France (4) Singapore
DD FBO w3 a4 WEgEHEG @RS Aa™do.
(1) cIBE dohicsSo 2) R0
@ Sy (4) Dotird

140. Nikhat Jareen won a Goldmedal at the 2022 IBS Women’s World Boxing championship in

(1) Antalya (2) Tokyo (3) Poland (4) Turkey

Qe 2388 Hoarde E'J“gihuﬁ rﬁ“ngacﬁ}.gfa 2022 ﬁﬂ}:ﬁ)ﬁ};‘»‘_&a Stito.

(1) w~oéreg (2) &8% (3) &eok ex8),
141. Identify the Buddhist work which referred about “ASMAKA" Janapada ?

(1) Vinaya Pitaka (2) Sutta Pitaka

(3) AbhiDhamma Pitaka (4) Anguttara Nikaya

"0 (ASMAKA)” 2255850 802 DYV & B85 B ?

(1)  DHAH HEE (2) Ko HEE

(3) eDEIY HEE (4) eotHess LoD

142, In a code language “fortune favour the brave’ is written as ‘5e 3e 6r 7¢’;

‘Ram is brave leader’ is written as ‘3m 2s 5e 6d’;
1 eader favour the follower’ is written as ‘8r 3e 6r 6d’;
‘favour the Ram’ is written as ‘3m 3e 6r’.
In the same language ‘Ram is fortune le?def is coded as :
2,& E5E grothes® ‘fortune favour the brave’ & ‘Se 3e 6r 7e’ o JPRE.
s brave leader’ & ‘3m 25 5e 6d’ e geRysD.

‘Ram
‘leader favour the follower’ &> “8r 3e 6r 6d’ e ZeRyw.

favour the Ram & 3m 3e 61 T° TP, i &8 eois®

“Ram is fortune leader” G308 &G &R

(@) 6d7e2s3m (2) 6r7e3e3m  (3) 6r8r3ebd (4)  6d 7e 3m 8¢
c

"-..._______

27 L
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143. Which of the following statements 1s not correct about

Arthasastra ?

It opens with the auspicious symbol of ‘'om’.

over manuscript of Arthasastra to R. Shamasastry, th
] library in 1905.
ire, Chandragupta or Pataliputra,

(1)
(2) A pandit of Tanjore district handed
librarian of Mysore Government orienta

(3) It does not contain any reference to Mauryas, their emp
(4) It consists of 16 books (Adhikaranas).
A =oe3e5° DB 58 eso05 eS8 (HHSSEw (statement) s°e ?

e:gafgeﬁnéé Domood) & So

(1) 26 DB B8 HHS® FrbozfodHeed

2) 1905 Boseyos’ BsisrE Gabely LOconS FOS” HITPRY K. TgTR8 Sorirty
2005 2.8 HoGed @gaﬂgn G308), g“eﬁ @@cfn;&) 290323 0RD.

(3) &g tH80D 59, o6 Jdyresgo HBoD S, S0t o805 FeAHELD HBoD
D). 20 VoSS,

(4) ad 16 ©bsEatvenm (books) defesosdecod.

144.

Which one of the following statements is not correct about growth of English Education in India?
The 1813 Charter Act allocated Rs 1,00,000 (one lakh) towards promoting the knowledge of

modern sciences and improvement of literature.
Babington Macaulay issued his famous minute on English Education on 2nd February 1835.

The famous Woods Dispatch of 1854 was another important step in the development of

(1)

(2)
(3)
Education in India.

In 1864 Hunter Committee was appointed to review the growth of Higher Education in

(4)
India.
etesiddoes® egoff DEFDH H02050DHoesNEDH &3 Sob) éa’:aﬁa’);'maﬁﬁ 2B DB 0NHEE s°¢H ?

1813 086 £56)5085° f draraHen eehdE PR $r0050 FFHHD §6L

(1)
SE3°0000E52V G0N,

(2)  erBolS B5°8 eoff DEFD SHGHS DSBK0 10 2, 1835 & HEEBoB.

(3) 1854 6 &Gy HESw (Woods Dispatch) aresesdioss® esoff DSy @SB Sowofod %
Soe.

(4) &S g ) Jforr FITHAKHE 50303 1864 S° robrd S DoZyen SaHesaw
238008,

145.

The North Atlantic Treaty Organization (NATO) is an alliance of countries from

(1) Europe and North America (2)  Europe
(3)  Europe and South America (4) Baltic States
8 oSS 88 wg3ERS (o) &° Hahgenr Baven &a)om.
55563", E:‘&?;él:s Ose (2) 8%y
(3) B, (8 @Ibse (4) 2O Saeen
2

23452-B / ET
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6. Which place i ;
14 ich place in Telangana Region became a prominent Military Camp during Kalyani Chalukyas ?

(1) Patancheru (2) Kalyani 3) Vemulawa i
?IT,SEZi?;E; E‘-"E.:luf; ?ﬂ;zﬁgh o) @nﬁnigzhg DE §ﬂé0iarﬁgn§}g ii“fgggﬂram
S (3) Sdwersee (4) 4o

147. Using this notation

A@DB means A =B

A©SB means A +B

A®B means A —B

A®B means A x B

A® B means BA

C7D386R9D3)® 2=

&3 SoerdrSo &HRBrHod)

ADBeo&S A+B

ASB ®oé3 A+B

A®B @063 A -B

A©B e0é3 A xB

A® B e9063 BA

(7P30609IDIB 2=

1) 1@4 @ 104 3) 1@4 4) 4®1
148.  Which of the following is a finer sedimentary material ?

(1) Gravel (2) Sand (3) Slate (4) Clay

&: §0B 5°8365° Qe e9BFD Hregsen N8 ?

(1) %o (2) =08 (3) 5 (4) 20085

149. Which Velama Royal Family Women constructed the “Nagasamudram Tank” ?
(1) Nagamallika  (2) Nagaladevi ~ (3) Nagambika  (4) Nagasree
Sokore: Hen0erdE BodS o e TIEdSngo BH ABNOE ?
1)  oerEHOE 2) ®Herdd g AT (4) a8

150. Identify the Inscription of Kakatiyas which describes the declaration of Sovereign Power in the

year 1163 CE by Rudradeva. | |
(1) Anumakonda Thousand Temple Pillar epigraph

(2) Bayyam Tank epigraph
(3) Warangal fort epigraph

(4) Srisailam epigraph r
&4 1163 S Hol| D8 BoBS seEBANL DEADE d THS0 T T ABYETSrOsS BEOBB

BHoHTEHeIC0B.
@ 55085 Somioare s Fo090
()  excsweglo BERD FRDO

(3) St E% @00

(4) gﬁe_}n S INTe
‘-‘-“-'-—-—_

234528 / BT
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151. Where is the International Court of Justice located ?
(1) New Yorkcity (2) Hague (3) Geneva (4) Hyderabad

290BTr03 TYAFD0 I, o ?

(1) &g osrd), D @ h (3) &dr (4) ToTerd

152. Which Qutub Shahi Sultan was murdered in the year 1543 CE by his own son Jamsheed ?
(1)  Sultan Quli Qutub-ul-Mulk (2)  Tbrahim - Quli
(3) Muhammad - Quli (4) Taneshah
§.4. 1543, &° & Heherar Logrs &8 85085 HXFEHBS 2oad BBS® Erefy SoHacT e ?
@ DS HD HHS - &S- 508, (2) =vro-H

B) sk - Hd (4) @~

153. Two entities are given to the left of :: and these are related in some way. One entity and '?" ar
given to the right of :: . Select a suitable alternative to replace *?’so as to keep the analogy.

BHBAS 1 O LI 28 DEST Hoogrl)y SONS Both SHoesgdwen (entities) QORI
5005 1 & HESDS 28 S0esgsn (entity) 28 7 S0, @ Dowor)) STArGREN 7 & Bdy
DN ot DEYS™ 29§ Sabods.

FLAME : UOZNV : : BRING : ?

@ YIRMT 2)  YIQOS (3) YJRNU (4)  YIQMS

154. Which Qutub Shahi General donated ‘Sreekurmam’ village to Lord Sreekurmanatha ?
(1)  Amit Kumar (2) Ashwa Rao (3) Manikchand (4) Raman Rao
‘BEro’ S, FErETEG eSS Ero TrErR) TrSorr RS KHehdS Apie DAPHHB 5K ?

(1) edned HAeE @ e0:4Q T (3) SeDESeb (4) oS oo

155. In which year does “Ramji Gond’ Revolted against Nizam of Hyderabad ?
o020l & Kol |65° FrasTrersd Dot H{ABLT Sddrieren B ?

(1) 1854 2) 1855 @) 1860 (4) 1862
156. The Farman of founding the Osmania University was issued by Osman - Ali - Khan on
(1) 24™ April, 1917 (2) 26t April, 1917
(3) 29 August, 1917 (4) 17thgep,, 1918
&S DRIy R &S ©0dgreS Do 28 B B
(1) 24 296,1917 (2) 26 93,1917
(3) 29 estigo, 1917 (4) 17 33026,1918

23452-B / ET 30 JEVROTRVANE
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157.

A1, A2, A3, As, As, As, A7 and Ag are sitting around a circular table facing the direction opposite to
that of the Centre. As is fourth to the left of A2 and second to the right of A¢. Aj is third to the left
of A3, who is not an immediate neighbour of As. A7 is second to the left of Aj. A4 is second to the

right of As. The person fifth to the left of As is

A1, Az, A3, A4, As, As, A7 o850 As en 208 Hog 208 hHtaw SogioH E’Jg@ﬁé HHH Do
EENTYE. A2 & AEHDJHS TreS FSos® As s, S0 HAIDS BokS F0S® Ag
STNE. A3 £ IEJHD SorES xsnxmef A1 &) o805 As £ DHS &) sty Ag S,
A1 & DEDINS BokS {ﬁ-a;\’)negg A:r 5;5:;1(3) As £ HE IS Botdd éﬁ?&oﬁﬁ A4 &I, Ap S8}

DEBOTEDS WANBS S0 ey S8
1) As 2) A @ As (4) A

158.

Which one of the following is not correctly matched ?

(1)  Muchiri - Port of Chera Kingdom (2) Madurai - Capital of Pandya Kingdom

(3) Korkai - Capital of Chera Kingdom (4) Uraiyur - Capital of early Cholas
&3 S00 5°6365° DB DOSUELNS[083 2366 ?

(1) 5008 - 38 oresgo £:6685 (2) oGO3 - Arothge TPREE)
(3) &°6Eow - B6 oresgsn ToaEE (4) &8o%Hd - & he oresrEd

159.

P.K. Sinha recently stepped down from which position ?
(1) Economic Affairs Secretary (2) Principal Advisor to Prime Minister

(3) Education Secretary (4) NITI Aayog CEO
2. 8. dyr geldHe HEDE  orBardre B0,

(1) @ Sg58807e S°63E56) (@) 8 53088 Swmg Soted
(3) Doy 58 (4) & es@rH CEO

160.

Navneet Kaur, the player in recent news is associated with
(1) Football (2) HanE}f (3) Wrestling (4) Tennis

ETATNSILIo [ORITANS $5589E 26 & Sreese0ed ?
(1) HDHE T @ 8598 (3) ) (4)  8N5

161.

——

23452.B / ET

Which of the following is not a function of Parliament ?
(1) Distribution of revenues between the Union and the States

(2) Distribution of Legislative powers

(3) Disputes relating to Water
(4) Coordination between States
&2 808 S° DO SR FBo), DB 575 ?

@ S08-0°9® Bo0hg eTPAiTA) Hotstéo
2) RS wHSTD HoES

(3) = JzEPeR
(4) oear9® SHnlS H5oga%0

e

R —

. T
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onic cruise: missile tf:;4) e T:aﬂ:ently.
162. India Slg“Ed an agreem F : (3) P -
(1) Ukraine 2 S o' 25050 20500 BH0H.
- ARy 0
2559 HdBH5 &

Lt to sell BrahmoS supers

@) Bood @ O (g
& ilot i ian Army ?
163. Who is the first woman combat pilot In Indian . ;in B
(1) Captain Abhilasha Barak (2) P

in Vir Bala
in Vinodini (4) Captan
3) Captamn Vinodini Sharma .
i;‘}‘tﬂé ?ac‘fsgoﬁs Emggﬁmﬁeﬂ Ly2yge P00 (f:r::rrnbat) 'Q_}E.ﬁég DB
(@) St 23075 Q) TS

(3) 32S ITBI Y (4) 3RS 56 e

164. Identify the States, whose integration with Indian union became a sermu; pr;bl;m,*
(1) Bhopal, Travancore, Bikaneer (2) H}rderafbﬁd: Junagadh, Kashmir
(3) Hyderabad, Junagadh, Nawanagar (4) Kashmir, Hyderabad, Mysore
2oB0HE AHrIoHS &° godhorr s SISO FONIIALY E’}n?ﬁ’:éﬁ)ﬂ@ (5805850,

1) s, er3Se, HE6 @ 2rtsorers, e, oRG
(3) Ipsoeerd, e, 05566 4) =BG, Iesorerd, SIS

165. A recent mega merger of a bank and a non-banking finance company involved

(1) HDFC and HDFC bank
(2) DHFL and HDFC bank
(3) IDFCand ICICI bank
(4) Indiabulls and SBI

53Se 278 rons’® Do wond Jotk 8% Sotf Hoden
(@) T5E52 &EAISD. rgols J
2) GIEIDDS. &IPS.AE.05.5. 23°g0%)
(3) DEIDA. &D.H29.5. 250
(4)  BoGair by & 8.8 5,

66. ich .
1 E’;“C GD:iLthyf?\g:j“ng 18 in the Island of Andaman & Nicob P
lonal Park icobar ?
(3} Mahatmﬂ Gaﬂdh ) . 2 K . .
s By st S @nﬁl Marine National Park (2) aziranga National Park

AR (4) Bison Nati | Pz
0805 DE%E Dot BBS0S* ol ?atmna ark

(2) S26orr apdioh errgdS80 {I’ﬂfk]

23452-B / ET - T



8923917
Oval

8923917
Oval

8923917
Oval

8923917
Oval

8923917
Oval


167. Danish Siddiqui, the Pulitzer Prize winner for feature photography, worked for

(1) AFP (2) Reuters (3) TASS (4) Xinhua
TR QS T HOWE b (Eres wand PoS° 2O 505% HABHTE.

(1) DD, @) oromeby B) SBO95I6. (1) QS Hos

Select the suitable alternative to replace ‘?’ in the following so as to keep the analogy as is there in

168.
the two sets of numbers given left to “?" mark
BIHDS 7 H IESIDS NS Both Bogrg HNBS® o gAY artdodd HOD STANCESN
AENER 7" o 858 BoDHod.
¢4 560 b 28 ) e d
(1) 4:16:64 @ 3:9:12 3) 8:16:24 (4) 5:30:35

169. Kartarpur Sahib corridor connects Gurudwara Darbar Sahib in Paki'stan wi.th in India.
(1) Dera Baba Nanak shrine in Gurdaspur (2) Golden temple in Amritsar
(3) Nankana Sahib (4) Wagah p
§6656 S BED FEYHS® @y DoEgoe Sopd AIrE 888 &)
gensyetrod.

(@) Eovavee 56 00800, B (2) S oS iy

(3) oo D 4 am

170. Identify the wrong pair.

(Newspaper) (Perjsnns}
(1) Amrit Bazar Patrika - Motilal Ghosh
(2) Bengalee - Surendranath Benerjee
3) Yugantar - Arabindo Ghosh
54]); Sangdhya - Brahmabandhav Upadhyay
48 gos5enSotd 28 800G,
£
(b@%e) P *"*”3?1 )
1) opSwerbsS - TOTONR
— - %oBoBd B
2 B e 5ol rRy
513 :
©) fﬁfﬁmu _ a8Erodie ePprgod
(4) Do - - e )
_-_-_--_-_-_._--_._-_-_-_ 2 A
‘1;-__ ot asmciatcd with one of the following news papers
s CandhE s (2) Sﬂtyngrﬂhi (3) Harijan (4)  Young India
{1 Navajeetfﬂﬂ v 738
) 2e5® oS sowotsisn B DS

i ol (@) romd (1)  o%Hob odakr
(1) 55858 e S S

G |
T THan

33
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| o tly matched ?
172. Which one of the pairs is not Eﬂrrec(gﬂnce Form)

{Al’tlﬁt} K;_‘l[’hﬂkﬂli

(1) Kunchu Kurup - st
(2) Rukmini Devi - Bharatanatyam

(3) Kelucharan Mahapatra- Manipuri
(4)  Birju Maharaj - Kathak
58 se5endods 23¢s D8 7

(RrergErtdgdd) (Freagsn)
(1) SocH HEFD . 59
(2) &&Ed A . eSBesmedge
(3) EeosS6S SoGtrgs - S0eddO
4) DG HoStoeS - 48
173. Who constructed the “Bhimeshwara Temple” at Vemuliflwada ?
(1) Baddega 2) Arikesari-I
(3) Yuddhamalla-I (4) Yuddhamalla-II
“ Shwesecs HRoEgoreaieR)” It Aoeedd ?
Alale 2) Bcsed @880
(B) Rocsed ofodsoened (4) Bo& aSSIened

174. The Venn diagram represents
Drivers of motor vehicles,
Drivers of 3 wheelers, drivers of 4 wheelers,
Drivers of the school van

5D ey SEaeet,

3 S5re) TETERred SENTLD, 4 S50 SETRRORN SGDe,
a7 S sy S $EDTE. DO SN0 IS D,

9 @ (9
1) (2) @

(4)

175. Which one of the following is the largest site of

(1) MﬂhEHjG—Darc} (2) Harappa (;I’l dus ’i.?’aﬂe}r (Hal‘appa) civilization ?

ROGHES) THBLS(EEIS $owohod & Dholavira

(1) 0zolf’ers®  (2) oy

Kalibangan

5230050

176. Which Prime Minister of India launcl
ed t
(1) Rajeev Gandhj o MGNREGA K

2
(3) Man Mohan Singh Eq,; ]a:rahéﬂal Nehru
58098685, % oS e Gomg asi;:; ;
5 - S N0 ?
(1) o°& __,mﬂ? S &
@ s 0 s

I__‘_—___-—-—_



8923917
Oval

8923917
Oval

8923917
Oval


177.

Who married “Rudrabhattarika” the daughter of Saka King Rudrasena ?
(1) Santamulal (2) Mahariputra Virapurushadatta

(3) Ehuvala Santamula (4) Rudrapurusha Datta

FEo72 B¢ DD HAPTEDD BHSESETOLL DS DERETEO ?

(1) s e Suwe (@) S0t detpcarsss
3)  dHVHe FFoestare (4)  B5HBCess
178. India’s rank in the World Competitiveness Index 2022 is
2022 &° HHoes SeSesess KeedS® gristdo @wE) Trgosd
(1) 43 @) ¥ (3) 40 4) 39
179. Identify the Stretch for which the National Waterway 1 of India (NW 1) was setup
(1) Allahabad - Haldia stretch (2) Sadiya - Dhubri stretch
(3) Kottapuram - Kollam stretch (4) None of the above
&z 808 s37¢365° 23mt5es 22R0DH 230 H5edo 1 FR5S 068 S 1 3D YoGoS®) DYVoD €8 Ao
L= -0 Jp g
(1) eoders - SOk Qe (stretch) (2) B - Y DYGed (stretch)
(3) S%5HBo -Sgro DR{BeD (stretch) (4) DI D
180. Which one of the language-culture groups represent the oldest speech family of India ?
(1) Aryan (2) Dravidian (3) Austric (4) Sino-Tibeten
oo BH0S® O FPTI 5205063 FTEP Bk ® () DB FASIEA ?
(1) esB8S 2) BB (3) @95 (4) ADIT-BBoS
8. Two entities are given t0 the left of : and these are related in some way. One entity and ‘?’ are
given to the right of 2. Gelect a suitable alternative to replace '?’so as to keep the analogy.
Ak o B D . é}éi}_‘}é 0¥ eSS0 DoY) OS5 Botd Sesgdnen (entities) RSIISID
y w ' ‘o . 89 QDo) S L) Ry WIS
e s of S (ntiy) a8 7 b, @ SomorR Bty 7 aqys
So$Hods.
DE)sTe 06 DYE Y WO
CIL: .: DAY :? .
(1) BAT | S —
e NS o -
35 TR

2.5/ ET
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ionari 17
182. Which one of the statements is not correct about revoluONares of Benga

(1) The first swadeshi dacoity to raise funds was organized in Chittagong in 1906

(2) A bomb manufacturing centre was setup at Maniktala In Calcutta..

(3) Maniktala bomb conspiracy case accused Aurobindo Ghosh and his brother Barindr,
Kumar Ghosh were arrested.

(4) CR.Das was defense counsel for Aurobindo Ghosh.

BolrS DHSSHOL HopoBoDBSSEL & §ob TES° DB DO VO JDBI(N $9¢) ?
(1) defve DEBEZ Incse3 1588 EDE 1906 Deyrrohies® DBFRrocsGEod.
(2) SoSEPS® ‘S5e38 ey’ Srocsoes® eroen 5aS8 SogrR) DOEN BADLEDD 238f08,

(3) S5re3 ey’ gy TS WEDOE 5 o005 D ASBE 2380¢5 LHEE ArRew w3g
2000, )

(4) 8D Il B, GGy raHb . &b, &

183. E’;'lichcimung the following is India’s deepest landlocked and protected port ?
ennai (2) Kandla (3) Paradeep (4) Vishakhapatnam
&8 808 28365 oS B 4D S°BS 253 95609 a0y HoBAs) BTN 86585 N ?
(1) B3y (2) seore 3) DERS (4)  Ddardensn
184. The number of triangles that can be identified from the fi gure given below is
Sots VS HEB S0 t805HDAS Bahestues Nogdg.
/ >/\/‘a/’
(1) 12 2) 16 @ 17
(4) 20
185. Which Cﬂm_rnjssign W : _-_-_-_‘H-‘H_H_-___-___-_ F—=
v as appointed by the British Goy o Ind¥

€rnment to enquire In
(1) Welby Commission g

(3)  Elliot Commissiop

(1) 38243 2 T B0t 238808 2
3 o Eﬂg@? o,
B) =RDADHE LGS @) 5.1 Q EHS
e R ST

186. The environment clearance granyed py fhe[_]n\ //ﬁ

Sods :-JEI"’SESQSEE Eﬁ)ﬂ@ﬁs m G 10n MlI‘u |

a JV 10 3 (:) A SoegSies VKK, Sty of Environment is for P

) 8 @ ? T Sodefyore Benert?

23452-B / ET 5 =

36
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187. According to a popular view of scholars in which diamond mine does the World famous
‘Kohinoor Diamond’ found ?

(1) Kollur (2) Samarlakota (3) Vajrakarur (4) Kolar
$HH0cs BROTNS ‘886 Hego’ B Heper HAS® FB80iD SprdHe HrE D0 ?
@ S (2)  JHEs% (3) Se88rE (4) &erb

188. In which Qutub Shahi Sultan court Addanki Gangadhara Kavi was in

(1)  Ibrahim-Quli-Qutubshah (2) Muhammad-Quli-Qutubshah
(3) Muhammad-Qutubshah (4) Abdullah Qutubshah

@Qﬂg (5050 £ & £e5ES JPare e EQ‘F&G@E &0Ga ?
(@) spivo- 6 - Seusi (2) b - 6O - HoSr

(3) oS - HeheSar (4) enogr HebHSr

189. Select the one from the following alternatives which is different from the other three alternatives.
8o¢s RDYS DS 2,883 MODS HureGoeds HYorr oBtt) G500 28 PSR DSYE0E.

(1) Fly 2) Walk 3) Run (4) Static

190. Identify the duration of the months for the ‘Kharif Cropping Season in India’
(1) October - March (2) April - June
(3) June - September (4) None of the above
2y0¢5¢5 B 2200e80D (Seaann) &50Go éga’}fﬁ{%(duratiﬂn) tHBotSocs

(1) 8% - &) 2)  DHS - 237
(3) =0 - 2020 (4) ID5D

191. hua Fossil Park is located in
91. Ghughu Rajasthan (3) Madhya Pradesh (4) Chhattisgarh

(1) Tamil Nadu (2) =
SIS

Kathraze o723 °D);

(1) J;aa@avci: (2) oo @) Dc5dss @) $8s6

I;z_ descr '« revolt as “Robin-hood-like” event ?
. cri +
Whoces as Metcalf (2) Irvin & Munroe
- Y d &
. hards & Cohen (4) Sherwani & Yazdani
) BT Ly O°D- o6 BB BBHIDHIPENT 500D K DB ?

S 4\ B TR
) mour iz oS DESD 2) =8gS &S
%;) :: %'T & £52500 (4) owged & cﬁhgﬁj
DED
i TG
7 T
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193.

191.

1495,

S S
(1) Alauddin Khilji separated religion frﬂr% Pt?rli:ndeﬁﬂ"mﬁ it as an unfair practice
' i d a ban on od
(2) Mohd. Bin Tu gIﬂaqumpnse 3080 BaHANS:
(3) Firozshah Tughlag imposed ‘Jizya’ even on Hindus.

i 2, - il
2inder Lodi exempted the collection of Jizya © S enS08s PR (Statement) g

A GrerSe $o2050DB50eSEH & 0O o36° DB D
(1) oeesdosre Sok D&Y e BS DY %éiﬁ:?@-rs o ity SABTS
(2) ‘D& TGHID a3 850D 220G 0y e E: po o il

() OFE ap i sreos® aaie Hind GIER Y
(@) 3055 5% 5°008° rothHeR SR $H89)0 ab

—
, is twenty second from the left

itioe o facin north. A boy X 15. ;! any

il;u:t}:zf b;}’n";’ﬂigbﬂr?; Ek?rjése afizriltt?wzg;‘ight. E boy Z is third to right of X and sixth to the left of

in that row. Thenn= By X 3 23°e0¢0 D[R N0 BSFdoty

2,8 SERS® &edtio S o n od srentl) £ ’
25067 Y @0 amenc H& S108 SwRyaresd oo’ eTY. Z % 2t X £ OEIQS St

FHS0STET Y 8 MESTS @S FrdosTe s, ©E N = )
1) 6 (2) 64 (3) 62

Three different views of a cube having the labels A, B, C, D, E, F on its faces are given below.,

If this cube is unfolded, it looks like

A, B, C, D, E F @ groHaadd Swpdven o 208 S0 Bwg), e D98 afohsen S
QIQ2CER. &8 S0 DEEDDNS 98 S5ecHe)dH) God DY

196.

A k E
c D =
B B A
: - Akl K I
B A fl
' [
C . :
' D | B
il (i I Flo |k P
2 el
® o . :
_-_-_---'-'-———
In tai : : —_
esﬂsﬁgﬁdﬁ - baﬂ’ ball is glass, glass i chair, chair ; - onil
E) e én according to this code langllage theI'E alr is computer, computer is pen
2,8 §G 2R’ ©) Table B c MStrument to draw figures 15
2O, 208 ol 2ypf 2508 epél3 ¢S50, 50 Omputer (4} Book
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197. Which of the following is the largest plateau in India ?

(1) Malwa plateau (2)  Vindhyachal plateau
(3) Deccan plateau (4) Chota Nagpur plateau
&2 S8 T°365° wrosBEa0S” wd DY DEEF 6 ?

(1) sregboard - (2)  Domyse HoEr

(3) 58,5 S5l @) Ser ohird HEErY

198.

A person starts at a point A and travelled 13 meters towards North-East and then travelled
12 meters towards South and from there again travelled 13 meters towards North-East. From there
he travelled a distance of 10 meters towards West and reached the final position B. Then the

direction of A from B and distance of B from A are respectively
(1) South and 12 meters (2) North and 12 meters

(3) South-East and 15 meters (4) North-West and 15 meters
2,8 3588 A 35¢ 200530 Kaarsg BK,eS° 13 Qeatdh Hosredod) &) Elood 12 N> $8ss0 IO 3Dy

DO® Sdgo A 13 e HoSredoard. v d Sod HEHE B 10 e Hosredod
tiSog0 B £ S3hHmchs. B 8306 A S (o BF H0ak0 A, B & 53655 Sovoren S

(1) ¢S&ea0 206050 12 Qresty (@) @60 000112 oesgh
(3) eshoSHo 2o6akn 15 Aoests (4)  @PoHSgo Swban 15 Aot

199.

The First attempt of entering Indian territory was made in 711 A.D. by the Arabs.
Who was the Caliph at that time ?

(1)  Al-Hajaj (2) Al-Walid (3) Al-Bakar (4) Al-Qadir
8. 4. 711 &° grE5e8840 D b InGG Gottosres 238008, N PO DSE ?
(1) eo5-Grees (2) eod-7706 (3) ed-2086 4) ©S-g68

200.

[dentify the wrong pair.

(Teachers) (Seth that follow different paths)

(1) Purana Kassapa - Sceptics'
(2) Pakuda Katyayana - A{u u'vadms
(3) Makkhali Gosala - Ajivikas

- Charvaka

(4)  Ajita Kesakamblin
DOsPR (wrong) 2385 tHB8ocdrdw.

(o%HHe)
(1) SHoves SEGOE

(D) SrGnen 9008 Stfen)
- BoBarotsh e

2) HHE SeEPgoDHD - e
(B) S0 f%e “w  EESEED
@)  eeses §550HS A e
< =F - e
-00o0-

8452-8 / T
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